
Combo 61 Desk
Assembly Manual



1

2

3

5

12

11

4

6

7

8

9

10

A B

C

1st   90 mm
2nd 110 mm
3rd 130 mm
4th 150 mm

4 heights

DUse screws Type S Use screws Type S

Use plastic insert type I

1/2 1/2

1/2 1/2

STEP 1

h

13

13



3

Push wooden dowels type W in the appropriate holes

STEP 2 STEP 3

5

2

1

Type F



STEP 4 STEP 5

Use screws Type E

3

4

Use hex wrench to screw Use screws caps

3

Tighten the screw until it is
even with the particle
board



STEP 6 STEP 7

Use screws Type E

5

3



STEP 8 STEP 9

6

Use screws Type A (x6)



STEP 11

6

10

STEP 10 STEP 12

7

8

9

7

8

9



STEP 13

Use screws Type A (x3)

Use screws Type D (x3)

DA

DA

STEP 14

correct position

up 1112

11

12

STEP 15

Use screws Type E

11

DA



11+12

STEP 16

Fix Rack Rail                        with screws Type RS

STEP 17



Type W

Wooden dowels Euro Screws m6x30 mm m6x100 mm

3.5x20 mm Hex wrench

Plastic insert Rack rail Rack rail screws Rack units screws

PACKING LIST:
x27

Slider

Type Ex17
Type Ax9

Type Dx3

Type Ix24
Type Rx4

Type Rsx8
Type Rux24

Type Sx6
Type Hx1

Type Slx2

Plastic foot

Type Fx4

TOOLS:

35 mm

If you don't need the rack units  don't fix the rack rails and use the
pieces number 13 to close the holes

13

13



Combo 88 Desk
Assembly Manual



1

2

4

6

13

14

5

7

3

8

9

10

1112

1.1

2.1

14.1

14.2

15

15

15

7

12

7
15

15

15

For reasons of safety and stability, parts number 7, 12 and 15 (3 pieces) are
assembled during transport. Before you start building your Combo desk88 , turn
part #7 with its underside upwards and lay it on the ground.
You will see 4 screws (Type A) which hold together the three parts.
Remove them and disassemble the parts carefully (keep the screws for later).
You are now ready to start building your Combo 88 studio desk.

1.1



Push wooden dowels Type W in the appropriate holes

STEP 2

A B

C

Step 1

1st   57 mm
2nd 77 mm
3rd  97 mm
4th 117 mm
5th 137 mm

DUse screws Type S Use screws Type S

Use plastic insert type I

1/2 1/2

1/2 1/2

STEP 3

3

3
2

1

Type F

5 heights



STEP 4 STEP 5

STEP 6

4

1

2

4

Use screws Type E

1

2

3

Use hex wrench to screw Use screws capsTighten the screw until it is 
even with the particle 
board



STEP 7 STEP 9

3

5

3

6

Use screws Type E

1

2

1

2

1

2

STEP 10STEP 8

Use screws Type E



STEP 11 STEP 12

1

2

7

Use screws Type E

7



STEP 14

STEP 15

8

9

STEP 13

Use screws Type A (x8)

10

11

8

9

10

11

7



STEP 16

12

STEP 17

Use screws Type A M6x30mm (x4)

Use screws Type D m6x100mm (x4)



STEP 21

STEP 20

13

14.1

14.2

STEP 19

STEP 18

1.1

2.1

1.1

2.1



STEP 23

13

14.1

14.2

STEP 22 STEP 24

Use screws Type E

14

14

STEP 25

14



STEP 26

Use screws Type A (x4) Fix Rack rail with screws Type RS

STEP 27



Type W

Wooden dowels Euro Screws m6x30 mm m6x100 mm

3x20 mm Hex wrench

Plastic insert Rack rail Rack rail screws Rack units screws

PACKING LIST:

15

15

15

If you don't need the rack units  don't fix the rack rails and use the pieces
number 15  to close the holes

x49

Sliders

Type Ex29
Type Ax16

Type Dx4

Type Ix30
Type Rx6

Type Rsx12
Type Rux36

Type Sx6
Type Hx1

Type SLx2

Plastic foot

Type Fx4

TOOLS:

35 mm


